Remedial Lessons/Self-Test of English Use

PART A—Structure

I  What is a sentence

1. Based on his research on aboriginal cult practice, Robert Newall years ago came to the conclusion___________very rigid.

A. is the belief which

B. which is that belief

C. is a cult belief

D. that cult practice is

2. _______________who was the last white man to leave Kenya during the 

      epidemic in 1943.

A. Lance Kinsey

B. It was Lance Kinsey

C. Lance Kinsey was

D. When Lance Kinsey

II. Word choice
3. Marie France is extremely popular____________the brand shares the largest Asian fashion market.

A. such

B. and

C. which

D. what

4. The textile companies have ___________problem of exporting fabrics once they have contracted the freighter companies.

A. no any

B. never the

C. not

D. no

III. Word Order

5. Nong Bua, the oldest village in Nong Khai, was founded in the early eighteenth century as a ________.

A. center fish-trading

B. fish center-trading

C. trading fish-center

D. fish-trading center

6. Out of the Indian Ocean’s great waters _____________on this planet.

A. some of them blow the wildest storms

B. of the wildest storms blow some

C. blow some of the wildest storms

D. the wildest storms blow some of them

IV  Verb Form

7. Novelist Naya _____________famous for the combination of feminine sensitivity and moral strength she gave to her female characters.

A. was

B. had

C. been

D. being

8. The naming of a Karen woman to the Chiang Rai municipal council in 2002 

      __________ an important precedent.

A. was set

B. set

C. setting

D. had been set

V  Parallelism
9. Before starting the fire drill, careful firemen study the building charts, _______, 

      and plan every rescue step to prepare themselves for any mishaps they might 

      encounter.

A. Every entry and exit point is studied

B. study every entry and exit point

C. to enter and exit the buildings

D. enters and exits the building

10. Iron resembles cobalt and nickel in appearance, strength, _____________.

A. is hard

B. even hard

C. has hardness

D. and hardness

PART B: Written Expression (Error Analysis)

Which part of the sentence is wrong.

I. Part of Speech

11. While the twentieth century, the field of veterinary science has developed 

       A

      branches that specialize in the treatment of individual animal illnesses.  

          B



C

    D

12. Photocopying, generally called “xeroxing’, processes documents to be 

                                   A      


B


copied direct from the plate.



 C

D

II. Plural

13. On the average thirty-five percent of the bottles packaged in the United 

A

      Kingdom are for beer and soft drinks.

                       B          C                D

14. Greenhouse effect or warming up of the earth atmosphere is the results of 

A



        B

      reactions between toxic carbon monoxide and the atmosphere.

 

        C





D

III. Subject-Verb Agreement

        15.  Khao Yai’s abundant forests and rivers has made it a sanctuary for many 

                                                   A                               B                              C

   kinds of birds.

        D     

16.  Though it has taken multiple forms and have at times seemed fruitless, the 

                    A



   B

      fight for female equality with male may be the world’s oldest and longest 

                        C





          D

      movement.

IV. Pronoun Agreement

17.  In proportion to its weight, the largest animal is the elephant, which must 

  A                                                                       B

consume about a quarter of greens their own size every day.

                                                                   C            D

18. The value of platinum, like those of any other metals, results from the 

    



   A



     B

       combination of the volume of supply and demand.

                      C





D

V.  Parallelism

19. The ruby, a precious stone, occurs in a range of pink, red and purplish.

                               A                       B                C                                   D

20. The eyeshadow can be described as a kind of eye cosmetics that is applied to the area 

                                                     A



  B

       above the eye and shading above the eyelids.




       C        D

VI. Pronoun Error
21. The Blue Ribbon of the Atlantic refers to the liner, whose has the fastest record 

                                                           A                            B                      C

       of crossing the ocean.

                D

22. A famous movie star for over a decade, Marsha marked her films with herself 

                                               A                                                B                C

      style and individual grace.

                            D

23. The world cup hero David Beckham obtained the nickname for his mansion 

           




 A

      “Beckingham” because he spent over a million pounds decorating it during his  

 



         B

       winning matches which are now the legends of British soccer league.

                    C               D

VII.  Prepositional Error

24.
The angry manager is almost continuously waving his hands, both up  above 



         A                               B                               C

 
 my head and down aside his body.

                                            D

25.
The latest research reveals that wind into a cave often has higher density and 

                                                                       A               B

          More volume  than more warmly sun-soaked  air outside.

                                                         C                            D

Redundancy - 7.6%

26.
Often called “Post-modern Saint,” Mother Theodore she helped heal and feed

                A                                                                             B

       
the poor  Indians called the Calcutta Paupers.

             C                       D

27.   In communication and transportation, moving vehicles they transport tangible 

A                      B


C

and intangible elements. 

          D

28.  Wool  is more lighter  than   sheep from which  it is derived.

                         A                    B                   C              D

29.  Australian wool sweaters are  considered valuable and because their designs 

                                                                                     A                                    B

        are trendy and the weaving process is fast.

                 C                              D

Verb Form - 7.2%

30.  Teachers lecturing  that the theory  is even more complex and larger in scope    
                    A                                              B                                           C

         than anyone has ever thought of.

                                    D                                  

31.  
Icicles are formed when snow to freeze directly on the surface of an  object.

                                 A                           B                       C                    D.

32.   Yuppies are often call the rich high class because of the stylish clothes they 

                                A     B                           C                               D     

         wear.

33.
Cynthia Twain found that the flow of the Mississippi  will be more fantastic

                                                       A                                    B

        if the tide rather than the wind grows stronger in mid summer. 

                                C                                                          D       

Deleted Word - 4.8%
34.
The sunlight is a blend of many colors can proved by passing it through 

                    a               b                  c                   d   

        a prism.

35.
A dictionary allows quick access to the meaning of a word only if one knows

                                          a                             b                            c

        how spell the word.

              d

36. 
Antique auctions have become popular in the United States because a steadily

                                             a                                                                b

        increasing awareness of the investment value of antiques.

                                 c                                          d

Word Order - 4.4%

37.  Were it not for the sun, which sends light and heat away far to the earth, 

                     A




    B                    C

         almost all living creatures would be dead and everything would be in 

              D

         darkness.

38.  Much than smaller and lighter the Sumo champion, the Thai kick boxer weighs 

                        A                                                                             B

        
between fifty and sixty kilograms and is about five feet six inches in height.
              C                                                                       D  

Article - 4.0%

39.  Until 2002, only few hundred conglomerations of planets had been

            A                   B                           C                                         

        charted.

              D
40.
A dancing is the oldest and liveliest of the arts.

               a     
            b                    c               d

41.
The Montreal International Exposition, “Expo ‘67,” was applauded for displaying

                                                                                                          a

       
an degree of  taste superior to that of similar expositions.

                 b                             c               d

42.
By a nineteenth century, adult education was beginning to develop as a

            a                                      b                            

        formal, organized movement in the Western world.

            c            d

Conjunction - 3.2%

43.  In the 2002 Wimbledon, Olimar Nassar became the first Nigerian tennis player 

A





     B


C


        to win   either the pentathlon and the decathlon.

                        D

44.  Hot air balloon  was a fad  among rich travelers  that  flourished
                                   A                 B                                C

       
from 19300’s and  1940’s.

                                D       

45.  The ingenious creation  of Thomas Edison stimulated later scientists to 

                                    A                                                          B

          experiment with both light  or sound.


                                C                  D

Part  C

I.
Read Text A first and complete Text B which contains the same information as in Text A.  Complete text B with only one word.

America Space Program

Text A

America’s space program has spent billions of dollars and years of effort to produce detailed studies of the clouds of Venus and the craters of Mars.  But currently the National Aeronautics and Space Administration’s researchers is paying closer attention to their home planet.  As the earth’s air, land and seas become ever more threatened by human overpopulation and industrial pollution, measuring the extent of the damage has become one of the urgent mission of science.

The space shuttle Discovery has the important goal to measure how badly the vital atmosphere’s ozone layer which protects the earth from the harmful ultraviolet rays from sunlight is being destroyed by the industrial chemicals from earth.  Discovery contains four  instruments that will study the earth’s protective ozone layer.  The satellite will accurately  measure the size and dynamics of the ozone “hole” and help researchers gain a better understanding of what causes it.

TEXT B

A great deal of money and effort have been spent on the investigations of Venus and Mars in 1.____________.  However, presently the National Aeronautics and Space Administration’s researchers have been looking more 2.___________ at the earth planet. Overpopulation and pollution from 3.____________ have increasingly  4.____________ the earth and its 5.____________ conditions.  Science, therefore,  has urgently placed an emphasis on studying how much these have been damaged.

The significant objective of the space shuttle Discovery is to measure the extent of the 6.______________ caused by industrial chemical particles to the                 7._____________ ozone layer over the earth.  The four pieces of equipment in Discovery will perform this function.  The satellite will gauge the size and dynamics of the ozone “hole” with 8._____________ and help researchers 9.______________  its causes 10. ______________.

II.   Choose the words from the list to complete the sentences below.


      developed          balancing          results         available        balanced

1.
The ....................  effects of nature maintain our food resource.

2.
By having a .................... diet, Manat could regain his health in a few months.

3.
Their aggressive diplomacy .................... in wars.

4.
The plot of the new novel gradually .................... in the author’s mind.

5.
We do not have those books in our stock.  They will be .................... in June.

III.   
Read the following passage carefully and fill in the blanks with the       words from the given list.


                  desirable         food       conserve       life       lead     

Man’s need to protect animals is not only 1..................... but necessary to 2................... his own diminishing 3.................... resources.  Man’s success in adapting animal husbandry to the 4.................... of the  animals will 5................... to the cultivation of natural richness.
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IV.
 
Read the following development paragraphs which are not in order.  


 
Rearrange them according to the content presented.


A.
Such method is difficult to formulate because television does so many things.  Specific standards cannot easily be set for a medium that offers so many kinds of entertainment and information to such vast audiences.  The highly varied tastes of millions of viewers further complicate the task of the critic.



B.
Recognizing the particular strengths of television, a critic can determine standards which best exploit those strengths.  In so doing, he must take into account the factors which stand in the way of achieving those standards.  Television has faults; what are they?  What are some possible ways to overcome them?  We can see a recognizable method at work in a critical approach of this kind.  It is a responsible critical method because it not only points out future but suggests constructive remedies as well.



C.
However, television is extraordinary in a number of ways.  No other medium except radio can reach such a large number of people at one time; in some instances over 50,000,000 Americans have simultaneously watched a single telecast.  Further, television has the ability to show a “live” event at the moment it occurs, and to transmit it directly to viewers’ homes.  Thus its scope, immediacy, and convenience are unique strengths of television.  These suggest a method for the critic.



D.
This criticism is typical.  In appealing to the lowest of mass tastes, many TV  programs are insults to adult intelligence.  Television drama in particular is often reduced to a few standard formulae:  Western drama, hospital drama, courtroom drama, police drama, and so on.  Standard plots and flat, stereotyped characters predominate.  By comparison, “live” drama of quality is proportionately rare.  Rare also especially in “prime” evening hours--are public-affairs programs, documentaries, and other offerings designed for a mature audience.  Critics often observe that television producers show little interest in minority audiences, however large those minorities may be.



E.
One frequently mentioned fault of television today is its failure to appeal to a variety of tastes.  According to many critics, the television industry directs most of its programs to a mass audience whose intelligence it underrates.



1.  ..........    2.  ..........    3.  ..........    4.  ..........    5.  ..........
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Circle the correct choice.

6.
The arguments above show __________________________________.


A.  weak points of television


B.  standards for making decision about TV


C.  the difficult task TV critics have to face


D.  the reasons for having TV dramas

Fill in the diagram using the following words to illustrate how television is criticized in the above article.  Write only A, B, C, etc. in the space provided.


A.  convenience        
E.  scope                 
I.  
prime evening hours

B. 
mass tastes       
F. 
weaknesses     
J.
offerings for mature audience

C. 
dramas with boring  
G. 
strengths            
K.  
public affairs

     
characters

D. 
no interests for        
H. 
immediacy          
L.  
documentaries

     
minority audience

CRITICISM ON T.V.
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